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o2 3 Al B3} sin 30° ¢F 2]

@ cos60°

@ tan45° x sin 30°

® %(cos 60° X tan 60°)
@ %(Sin 30° + cos 60°)

® 2 x (sin 30° x cos 30° x tan 30°)

oF

o




sfoiar.

_;L

O
=

FollA 2xy 2 2L




6. o> I™ollA sind0° 9 g7

50°

D0 ® 0.64 3 0.77 @ 1 ® 1.19
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T =
O B D T
Z% | AR (sin) | ZAFI (cos) | HHAIE (tan)
45° 0.7071 0.7071 1.0000
46 ° 0.7193 0.6947 1.0355
47° 0.7314 0.6820 1.0724
48° 0.7431 0.6691 1.1106
@ -0.724 @ -0.6820 @ 0.3903
@ 0.3180 3B 0.6820
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9. tanx=2V3cosx ¥ W, sinx 9 & 75tz (T 0° < x < 90°)
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10. oF2 ™A sinx o] gL& Fatoiat.




11.

tan(A — 15°) = 1 0|4, x> — 2xtan A — 3(tan A)? = 0 2]
TotH? (T 0° <A <90°)

® 3v3, 2V3 @ -3, 3V3 ® 23
@ 243, V3 ® -3, —343
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12. sinx = 0.2419, tany = 0.2867 & o, t}=

x+y o & Ford?

oA Fol &

2t sin cos tan
14° 0,2419 0,9703 0.2493
15° 0,2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
@D 19° ® 30° 3 31° @ 32° (B) 33°
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(T, sin50° = 0.77, cos 50 ° = 0.64 2 A4FgHet)
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th2 18 2] AABC oA /ACB = 135°, AC = 7cm ©|th.
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19. & ™83 -8 AABC oA /B = 45°, /C = 60°, BC = 60cm 4
o, AH ] Zo]E F5}H?

BC
@ 30(2- v2) em @ 30(4- V2) em
® 30(2- V3) cm @ 30(3- V3) cm
® 30 (4~ V3) cm



20.

ohS 138 9] AABC o)A /ABH =
60°, /ACH = 45° , BC = V3 +1
A o, AH ] do]& x 2t 51 x? =
-5t ?

D 2.2 @ 3 3 35

600 o
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21. t21 22 AABC 7F ot AB =
20cm 2t & o, x o] do]&?
D 8+3cm @ 9v3cm
©) 10\/§CH1 @ 11 \/gcm
® 12V3cm
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24. hg I ol 5 HjZHA19) Lolrt 42 15,
16) ALZF4 9] o] o] Hughe Fatelet.




25. o2 O¥3} Zo] A5 Zolrh10 91 ¥
O °f| YHs= A2+ ABC o|A] /BAC =
60° & o, AOBC 9] Ylo|& oozt
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